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1. (@) Vivekisabout to retire. His company has giAven' him the option of retiring with.a lump
sum of ¥ 10,00,000 or with an annual pension of ?'.1,00,0_00 per annum of the next

20 years. If the interest rate fs 12%, which option should he selected ? 6

foos dafEa a9 T’ € '|' IHT HIA A 3@_-% 10,00,000 THATA T
B 1;00,ooo§ﬁaﬁmﬁ%ﬁmmzoaﬁﬁmﬁaﬁmﬁﬁﬁm
1 AR AN W 12% ¥, A 9 S fadhed 1w w2

.(b)_ .Expllain the scope. of financial ﬁanagement in present day world. | 9
o1 % T § o v - ajauh%faﬁ |
Or

(¢) If a firm’s earnings.increase from ¥ 3.00 per share to ¥ 4.02 per share over a period |

of 6 years, what is the rate of growth 6_f eamnings ? ' | o 6

aﬁ.mﬁmaﬁqm.oouﬁr&mﬁn.azuﬁéﬁmﬁ 6o H 9% W
R R P |
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(b ‘Explain business risk and financial risk and how are they measured ? 9

S € ?
2. (w) Djfferentiaté between NPV and IRR methods of Capital . Budgeting. - 6
Fied awfen & NPV 3R IRR gl § I HIfST o

(b)) A company requires an initial investment of ¥ 80,000. The earings after tax for different

years are as follows :.

Year | EAT (in 3) |
L 9,000
2 . | 12,006
3 ' 15,000-'
s . 18000
5 __20,009

P.TO.
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Thé company’s m‘injlmum required rate o-f return is 15%. -

Find out :

@' P;yback period '
(i) Net present value. | - o o ! 9

@mﬁﬁuﬂfwﬁéﬂmooooﬁw% |1%|ﬁ4:fasﬁ$1%—rq
FUTEN o e gwr ¥

e

] ',-"_9,00~o

2 | - 12,000

3 | _15,060"
& 18000
5 20,000

FA & A AwEH YRES T (Rate of Return) 15% ¥ |
'(z') ﬁaﬁ? (Paybaék) Q:Ia'ﬁ*?l;
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(3rer)
A company is considering a new ‘projec':t for which the investment daté is as follows :
(@) Ca?ital co'étJ ? 2,00,000 ‘
(bj Depl;eciati(‘)n | Sl.L..M. |

The expected earnings before depreciation and tax are as below :

Year Earnings €9)
P 1;00,000
2 : 1,00,000; -
3 | 80,000
4 80,000
5 40000

Tax rate is 40%.
Calculate :
{a) Accounting Rate of Return

(b) Internal Rate of Return. - - - s

P.TO.-
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e T T e T R @ g faf sted P

() fl'sﬁ AT 200,000 .
(@) aewE W e e

Wﬂﬁmwfﬁﬁqﬂﬁﬁ.mﬁﬂmﬁr

| 1 1,00,000

2' L 1,60,000
3 - 80,000
4 s 80,000

s 40,000 .
S A W A% -
() v S
() amfe Wfawd &L
(@) Explain and illustra_te- the c-affect of the fo}lowing :
| ), | .Calculate cost .of debt

(i) Floatation cost on cost of issue of fresh equity share capital. S - 6
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mﬁ-ummmﬁﬁmammﬁm:

‘(i)_ﬂw,aﬁm#ﬁfq.

@) Tt SREA e g W ®T B 9P W YEdA AT (Floatation

Cost) |

A conpany ‘is expecting EBIT of X 4,00,000‘and belongé to risk class of 10%.

Yog are required fd find out the _vélue of the firm and the cost of 'eqﬁi;[y capital
if the firm employs 6% deb‘t to the lextent of ‘2'0%,.40"./0 or 60% of thp total
fund requirement Qf < ’20,00,060. Use NOI Approac}ll.- boes the value of the firm
change with the chénge 'i'n_ debt in the capital structgfe. Show the functioning of

NOI approach. . 9

wH FEE T 400,000 FT EBIT 1 e @ ¥ IR T 10% e T

g ¥ 1o g T g A e,

afz e S HIN STEEIHA € 20,00,000 H 20%, 40% A 60% HT STHT

¥ 6% ®W H FEifT W T 1 NOL WS W W Wit e S
o H wm S e B B em A R uRed da ¥ 2 NOL WA

1 FE-TE W ey |
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or
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" (a) . The following data is available for XYZ Ltd.

)
Sales - o . ~2,00,000
| Less - Variable Cost 40% * 80,000
| Conlribution. " o ' - 1,20,000
Less : Fixed Cost , - 80,000
EBIT = . - | } : 40,000
'Less’: Interest | | - _ '7 | | | 10,000
. EBT o - - 30,000‘

- Find out :
() By what percentage will the taxable income increase, if EBIT increases by 6% ?

(i) By what percentage will EBIT décrease, if sales decrease by 10% ?

b

(i) By what percentage will the taxable income increase, if sales increase by 15% ? 6

&
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xyz fa. %ﬁﬁﬁl’@ﬁﬂﬁm%

az'rli—qﬁa?f'—wﬁa AT 40%
2orrit

T A
- EBIT
T —

EBT

T TR ;o

(@) SR EBIT 6% 96 < @ 9% 4w oma @ whww @@ a2

Gy AR 10% e S A EBIT fR wfem T SR 2

. ®

2,00,000

80,000

1,20,000

80,000

40,000

10,000

30,000

460
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(b) XYZ is planning an expansion programme which will require 30 lakhs and can be funded

thrqugh;one of the following Optioqs : |

(1) Issue of fresh eq.uity shares éf Eq .1.00 each at Ipqr
(i) Raising 'o,f.l 5% loalr.1‘

(i) Issue of 12% preference shares.

The present equity share capital of the company is ¥ 60 lakhs and the annual
EBIT is ¥ 12 lakhs. Tax rate is 40%. After the é)_cpansion, the EBIT is expected to
be ¥ 18 lakhs.

Calculate :

{0 The-_E?S under all the three financing plans. Which plan should be selected ?

.(if) Determine the indifference point. between the equity share capital plan and

debt plan. ‘ i ‘ . g

'xm@Wmﬁa@ﬂm%%ﬁﬂ%fmmdm&ﬁm
wSh W e # fw e S T fae ¥
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(i) 15% UX TS SWEN
Gii) 12% fvmm s Sl FE |

g # ade aimj’ﬁ%sow%ﬁr(mﬁmwnmzm%|
F R T 40% lﬁwaﬁqﬁﬂﬁan?lsm‘aﬁ;ﬁ@m% }

() el @aff%ﬂ'-r I zﬂrﬂ g '@Tﬁ_' ?

(i) Mﬁmiﬁlﬁmamﬁ?ﬂw%nwmpoimﬁﬁaﬁ_

4. XYlZ Ltd‘, has the following capital structure

Paﬁiculam ., : | ' ‘ | _ _ ‘ )
(z)___Equity Share Capital (T 10 each) - o - : 15.00,000
| (&) 11% Preference Share Ca'p'ital. (X 100 each) | | 12,00,000
(i#) Retained Eamings R 2000000
() 15% Debentures (% 100 cach) | C13,00,000
60,00,000

P.T.O.
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The expeéted dividend on equity share is ¥ 3.60. The dividend is expected to grow at
7% per annum. The market price of the share is T 30. Preference shares are currently selling
at T-75 per share and are redeemable at par after 10 years. A Debenture is. sélling at

T 80. Debentures are redeemable aftAé'r 8 yearé. The income tax rate is 40%. Calculate the

WACC using book value weights. - - ‘ 15

xyz fa. & §f @ B ERm

foramn | | | S | | ®
(;) ‘a’ﬁaﬁm ISt (wfa stw 2 1l0) ‘ _' .. | R | 15,00,000
@ 11% aﬁuﬂﬁ aer st (ufa o791 3 100) - | 12,;00,000.
(i) e TSt | " - I_ o 20,00,000
(v 15% FoOT (o HIT 2 100)‘ | o . 13,00,000
60,00.000

et s W WO @ < 360 B | wi # wahe T v ¥R
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@%Hms%wmloaﬁmavﬂuﬂam% | ®UA T 80 W e
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el & 4R FE GR WACC W Wo—hﬁﬁq ;
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Or
(areran)

Explain stable dividend policy. - o : ' 6

_f&mwwm%mavhﬁﬁq'l

A compaﬁy belongs to capitalization rate of 10%. It cufrentiy has outstanding 25,000
shares selling at ¥ 100 each. The fim is contemplating the declaration of dividend
of ?’ 5 per share at the end of the curreﬁt financial year. The company exbscts to
ﬁave a net income of ¥ 2.5 lakhs and has a proposal for making new investment of
35 lakhsl. Show that under the MM assumptions,‘ihe payment of dividend does not

affect the value of the firm. : o 9

T a»‘rqq‘rq\\—rﬂw & & 10% ¥ Weg ® 1 9duE d TEE 25,000
st wwE % AR A 2 100 WO W o @ ¥ | e fordi

@ﬁﬂﬁ?59ﬁfﬁﬂﬁ?ﬂﬂiﬂ.ﬁ_m$ﬁﬂ—ﬁ?§m@% | wed

_aﬁ‘rﬂam%-z;sw@?}ﬁm%ﬁﬂqﬁﬁéwm?oo,oodmmﬁ
WEE MM qee & oA wee IR R o w1 e
a‘r@ﬁmﬁaaﬁm'u | |
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(a«) Write short note on any one of the following :

)

(U]
(ii) ~Factors affecting capital structure;

Froaffan @ e T ® oy feo fefay -

(0

Liberal credit policy

IRl wige aifadt

(i) t‘{sﬁai‘%raﬁ wﬁﬁ-ﬁm@mﬁ

460

From the following information, prepare an estimate of working capital.

requirement ;-

(i)
(i)

(iif) .

)

o8

(vi)

Projected annual sale

Selling price per unit.

Raw material cost
Direct Labour Cost
Overhead cost

Raw material stock

9

52,000 units

7 50

40% of -sellin.g price
30% of selling price
20% of se.lIing price

Average 3 weeks
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(vii) Work-in-progress stock

(viii) Finished goods stock

(i) Credit allowed to Debtors *

(x) Lag in-paymrent of wages and overheéds
(xi) Credit allowed by suppliers
(xii) 50% of the sales are on cash basis

(xiii) Cash required T 50,000-

460

‘Average 4 weeks '

_ Average one month
6 wgeks

2 weeks

8 weeks

ﬁtﬂf_df@lﬁ g A s ﬁ'ﬁ.wéww #1 TR F

) -Eﬁr_ﬂ’d aﬁmﬁﬁ

(ii? gid Wré T“aw T

(i) F= e ) ama |  ’
i) W&; W@m

(v) U E;IT‘TH

52,000 T

i SQ

40% ToEd qed |
30% ﬁm Tl Wl

20% fazra gea &l
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(vi) Feal Wi @i

(vii) eiffia W@l

(vii) TIR T . @l

W éﬁaﬂﬁwmﬂ: “

x) m@@?méwﬁw

) sﬂﬁiﬂ»—dfaﬁ T SUR Iy

(xif) 50% fersht '—lﬁ amrr{ .tl‘{ %A |
(xf}f) ﬂ?ﬁ”{ # aqlawm ? }_so,ooo
or
(3rera)

Explain any one of the following :

.- ()  Motives of holding cash

(i) EOQ Model of Invéntory Management.

460
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Profefan § ¥ frl T w1 a0 R -

O T wE F st

(i) WS FA TR F EOQ HiEA |

Determine the market value of equity shares of the company from the following information =

as per Walter’s model

.Eamings of the company B R ._% 50,00,000
Dividendpaid =~ - | o X300
'Nt.lmber of shares outstanding | _ _ | B '- ', 1,00,‘000 |
Price-eamir‘lgs ratio ‘ ' o | - _ 10
Rate of return on in'vestr_peht . . ' | 15%

Are you satisfied with-the current dividend policy of the firm ? If not, what shoul_d bé
the optimal dividend payout ratio ? | . . .9

- PTO.




460

LSY

C18y | 460

% aeR qed w1 fuim st

wEE w aeA S % 50,00,000

AN FPTH | . 7.3,00,000

fecoc s B ke S | 100000
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